
https://www.certbus.com/hpe0-s50.html
2024 Latest certbus HPE0-S50 PDF and VCE dumps Download

 

 

 

HPE0-S50Q&As

Integrating HPE Synergy Solutions

Pass HP HPE0-S50 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.certbus.com/hpe0-s50.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by HP Official
Exam Center

 

 

HPE0-S50 PDF Dumps | HPE0-S50 VCE Dumps | HPE0-S50 Exam Questions                                1 / 5

https://www.certbus.com/hpe0-s50.html
https://www.certbus.com/hpe0-s50.html
https://www.certbus.com/hpe0-s50.html


https://www.certbus.com/hpe0-s50.html
2024 Latest certbus HPE0-S50 PDF and VCE dumps Download

QUESTION 1

A Synergy integrator is modifying the network uplink configuration of a Synergy environment that uses HPE Synergy
40Gb F8 Switch Modules for connectivity. 

What must the Synergy integrator do to make the necessary modifications? 

A. Connect to the switch module CLI and run the necessary configuration commands. 

B. Connect to the end-of-row (EoR) switches and push the configuration to the switch modules. 

C. Connect to HPE OneView running on the Composer module to modify the Logical Interconnect Group (LIG)
configuration. 

D. Connect keyboard, monitor, and mouse to the Frame Link module, and run the network configuration wizard. 

Correct Answer: D 

 

QUESTION 2

Which utility compares currently running firmware with the upgrade firmware for the HPE Synergy 40Gb F8 Switch
Module, which allows minimal downtime during the upgrade? 

A. SMU 

B. SUM 

C. VCSU 

D. ISSU 

Correct Answer: B 

 

QUESTION 3

HOTSPOT 

A customer needs to incorporate the HPE Synergy D3940 Composable Storage Module into its environment. Click the
adapter associated with the fabric in which the customer should install the P542 controller. 

Hot Area: 
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Correct Answer: 

 

 

QUESTION 4

A customer attempts to use an HPE Synergy Composer to discover an HPE BladeSystem c7000 enclosure. The
customer is unable to migrate the HPE BladeSystem c7000 enclosure into the HPE Synergy Composer. What is
preventing the customer from completing this task? 

A. The migration must be initiated from the HPE OneView managing the HPE BladeSystem c7000 enclosure. 

B. The HPE BladeSystem c7000 enclosure must be cabled to the Synergy management network. 

C. The HPE OneView managing the HPE BladeSystem c700 enclosure must be upgraded to HPE OneView 3.0 before
the Synergy Composer can migrate. 

D. The Synergy Composer only supports HPE Synergy products. 
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Correct Answer: B 

 

QUESTION 5

A Synergy integrator is working with a customer to perform a first-time setup of a 3-frame Synergy environment. The
following fabric modules are installed: Frame 1 

Bay 1

Correct Answer: A 

 

 

QUESTION 6

A customer has moved a USB bootable drive to another compute module but the compute module fails to boot from the
USB device. 

What should the Synergy integrator do to resolve this issue? 

A. In the server Profile, make sure OS Deployment is set to Deployment Plan. 

B. Use UEFI System Utilities to disable the B140i RAID controller. 

C. Verify that the USB drive key is enabled in UEFI System Utilities. 

D. Make sure PXE boot is disabled. 

Correct Answer: B 

 

QUESTION 7

A customer is planning an HPE Synergy solution with 20 frames and needs to minimize the number of management
ports that are required to connect the frames into the existing management network. 

Which procedure should the Synergy integrator use to address the customer\\'s concern? 

A. Connect FLMs from all frames into a management ring. Then connect the management ring to the customer\\'s
management network using two uplinks. 

B. Connect FLMs from all frames to two external switches for redundancy. Then connect the two uplinks from the two
switches into the customer\\'s management network. 

C. Connect the RJ-45 front ports of each frame to two external switches for redundancy. Then connect the uplink from
the two switches into the customer\\'s management network. 

D. Connect the RJ-45 front ports of each frame to an external switch. Then connect the uplink from the external switch
into the customer\\'s management network. 

Correct Answer: A 
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QUESTION 8

A customer has a single frame with seven compute modules in bays 1-7. The customer also has an HPE Synergy 12Gb
SAS Connection Module in slot 1. The customer recently made a change to require high availability for its storage. What
should the Synergy integrator do to meet the customer\\'s requirement for high availability? 

A. Install an additional HPE D3940 storage module to support bays 7-12. 

B. Move the compute module from bay 7 to bay 12. 

C. Add another HPE Synergy 12Gb SAS Connection Module to bay 4. 

D. Move the mezzanine Card to slot 2 on each compute module. 

Correct Answer: C 

 

QUESTION 9

A customer needs a consolidated infrastructure view for HPE Synergy and HPE BladeSystem c7000 enclosures. Which
approach should the Synergy integrator take to meet the customer\\'s needs? 

A. Enable federation in the HPE OneView appliance and add remote HPE OneView instances. 

B. Add remote enclosures to monitor the BladeSystem c7000 enclosures. 

C. Deploy HPE OneView Global Dashboard. 

D. Extend the Synergy out-of-band management ring to the c7000 Onboard Administrator ports. 

Correct Answer: C 

 

QUESTION 10

Which element of the HPE Synergy 12000 Frame protects against loops on the MGMT ports that are connected to the
external management network? 

A. Image Streamer 

B. Frame Link Modules 

C. Interconnect Modules 

D. Composer 

Correct Answer: A 
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